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(A) ¢-1 (B) g +1 (C) 2q (D) 2¢ +1
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(A) 45°, 15° (B) 15°,45°  (C) 45°,30° (D) 30°, 45°

5. W sin(A+B)= v 3R cos (A - B) = ?,?ﬁAaﬁIB%mm:ﬁiﬁ:

[

2 ano
6. 1-tan“30

55— S A :
1+tan? 30° am o&

V3 1 2
A) — (B) - C) = J
. 2 2 © 7 93

7. aﬁmxz_u+k=omﬁ%6%,ﬂkw@
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14. §ag S ABC & Yo AB i Witk cD R | CD2 % AH B 1
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(D) 63
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L 2
(A) 4572FFm  (B) 4752fFm  (©) 547-2 R g (D) 754-2 form

16. 3, 4,6 3 x I TR T 58 | @ x FT FH 201 1
(A) 5 - ® 2 (p)@ (D) 3

17. f&amaﬁww::-%ﬂmﬁﬁw%o 1
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18. et saasr @9 = 23 | afe Iuh) T I e | 1 o i
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19. Miﬂ%éﬁ%mmaﬂtmm: 26-1 3 25-8 § | a4 # g
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(A) 242 (B) 251 (C) 252 (D) 264

20, Ha sgf TR I
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25.
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(English Version)

Instructions :

()
(i1)
(iii)
(iv)
(v)
(vi)
(vii)

(viit)

(ix)
(x)

First 15 minutes are allotted for examinees to read this question paper.

All questions are compulsory.

There are two parts of this question paper.

In Part - A there are 20 questions of multiple choice of 20 marks. The answer of
these questions are to be given on OMR Sheet.

Do not cross the answer of these questions on given OMR Sheet and also do not
use eraser or whitener on the sheet.

In Part - B there are short answer type or illustrative questions of, rks.

There are five questions in Part - B. &a

In the beginning of each question, it has been clearly men@e?thar how many

parts of it are to be attempted. 00
Marks allotted to each question are mentioned ag
Start from the first question and go up to rk uestion. Do not waste your

time on the question you cannot solve.

P@§

Multiple Choice Questions : $

1. In the decimal expan51 the number of digits will be :
25

(A) one 06 (B) two

(C) three 6 (D) four
2. The d1®etween the points (x, y) and (- x, — y) will be :

(A) 2(x% +y?) (B) 4(x? + y2)

(C) 2«,}x2 +y2 (D) 4\ix2 +y2
3. From the given numbers the prime number will be :

(A) 0 (B) 1 € 2 (D) 8
822 (EA) 6
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For any positive integer g, every positive integer will be in the form of : 1

(A) ¢g-1 (B) g+1 (C) 2 (D) 2g +1

: V3
Ifsin(A + B) = - and cos (A -B) = 3? , then the values of A and B respectively

will be : 1
(A) 45°15° (B) 15°, 45°
(C) 45°,30° (D) 30°, 45°

2 qpo
The value of M— will be : & 1
1+ tan?30° o
J3

3
(A) .‘_/__ (B) 1 (C) 2
2 2 J3 00
If one root of the equation x2 — 4x + k = 0 is 6, then éahe of k will be : 1

A) -12 (B) -6 () 6$\ D) 12

The sum of two numbers is 24 and Qothem is twice the other. The numbers

respectively will be : * 1
(A) 16,8 (B) 12 C (C) 18,9 (D) 14,7
The areas of two :&angles are in the ratio 81 : 121. The ratio of their sides
will be : 6 1
(A) %\ ) 11:9 (C) 3:19 (D) 19:3
A perpendicular is drawn from the vertex to the base of an equilateral triangle of \
side @. The measure of perpendicular will be : 1
(A) 534 unit B) 3 o unit

2 2
(C) —\@ a unit (D) 3 a unit

4 4
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11.

12.

13.

14.

15.

16.

17.

The whole surface area of a solid hemisphere of diameter % cm will be :

1
(A) 37 cm? (B) _3_,, cm?2
(C) _1_ 2 3 2
T T cm (D) — 7 em

An arc of a circle of radius 6 cm subtends an angle of 60° at the centre. The area
of the sector will be

(A) 27 cm? (B) 47 em?
(C) 6z cm? (D) 87 cm2

The hypotenuse and base of a right triangle are 7-5 cm and @ respectively.
The measure of perpendicular side will be :

(A) 55cm (B) 6cm
(C) 65cm ) 7cm 6@

The median of side AB of an equilateral tri C is CD. The value of CD? will
be :

(A) % AB? Qg AB?

(C) AB? (D) - A.82

The arithmetic me :ghe weight of 12 persons is 45-6 kg. The sum of their

weights will be :

(A) 45T, (B) 4752 kg

© 5N (D) 7542 kg

The arithmetic mean of 3, 4, 6 and x is 5. Then the value of x will be :
(A) 5 (B) 2 (Cy 7 (D) 3

1 :
iscrimi ' tionx - — = 1 will be :
The discriminant of quadratic equati "

A) 2 (B) 3 (©) 4 D) 5

822 (EA)
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18. The area of a rectangular field is 30 m2. If its length is 1 ‘m greater than its

breadth, then the quadratic equation to find them will be :
(B) x2-x+30=0
(D) x2-x-30=0

(A) 22+x+30=0
C) x2+x-30=0

19. The mean and median of a frequency distribution are 26-1 and 25-8 respectively.
The value of mode for the distribution will be :

(C) 252

(A) 242 (B) 251

20. The measure of central tendency is :

(A) frequency

(B) cumulative frequency
(C) class interval

(D) mode

21. Solve all the parts:

(a) The distance between the points

of y.

(b) The mean of x and 1 is
x

(¢) Iftan2A =cot(A @Vhere 24 is an acute angle, then find the value of A.

(d)

(D) 264

d (10, 3) is 10 units. Find the value

the mean of x3 and —15 .

x

(e)

(f)  Prove that V2 is an irrational number.

22, Solve any five parts :

(a) Find the mode from the following table :

—

|f Class interval 0-10

10 - 20

| Frequency 5

10

90 — 30 | 30 — 40

15

23

40 - 50
7

822 (EA)
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(b) Construct a triangle of sides 4 cm, 5 cm and 6 cm and again construct

2 :
another corresponding triangle whose sides are 3 of the corresponding

sides of the previous triangle. 4

(c)  Inaright triangle ABC, angle B is a right angle and BD is perpendicular on
AC. Prove that : AB2 = AC. AD 4

(d)  The product of the age of Punita 2 years ago and her age after 4 years from
now is 1 year more than twice her present age. Find her present age. 4

(e)  Solve the following equation : & 4
1 1
~ - o5 =3 2202 (P

. .. ) * .
(f)  Find two positive even consecutive numbers, th& of whose squares is

340. e
23. Solve the following pair of equations : \0 6

3] 1
+

=1
4

In a journey of 30031% person travels 60 km by train and rest of the distance
by bus, then it t ours in all. If he travels 100 km by train and rest of the
distance by en it takes 10 minutes more. Find the speed of the train and

the b vely. | 6

24. When the angle of elevation of the sun becomes 6 from ¢, then the shadow of a
pillar standing on the horizontal ground is increased by a metres. Find the length
of the pillar. 6
OR
By observing from the top of a multi-storeyed building, the angle of depression of
the top and bottom of a 4 m high building are 30° and 45° respectively. Find the
height of the multi-storeyed building and the distance between both the buildings. 6

822 (EA) 10
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25. An arc of a circle of radius 21 cm subtends an angle of 60° at the centre. Find

the area of the sector formed by the arc and the area of the segment formed by the
corresponding chord.

OR

A cylindrical bucket of 32 em height and 18 cm base radius is full of sand. This
bucket is emptied on the ground and a conical mound of sand is formed. If the

height of this mound is 24 cm, then find its radius and slant height.

0 ¢
O
<
R
o,'o"
0
o)
&

L/

'S
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